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NEUZAH|(ZEE ol 20F)
140,00020* 1%+ 122 1,680
204 R4 AH| 1,628 1,628
02 28 XY 1,628 1,628
NZZEXRH(2EY ol 20k)
155,000 *(35A1 2H/40AI 2F) * 1+ 122 1,628
Ol (2 2N (1S L ASHEZAL 405,175 679,489 A274,314
101 @124 388,899 649,039 A260, 140
02 J|EtRIE 2 388,899 649,039 A260, 140
NoiEgd(2dYd (e 20f)
1,904,000 x 1+ 122 22,848
NEXZQAINSE(2SE 2 20F)
1,904,000 *8/7+84%+0. 05+ 1 &+ 122 1,097
1S A (2 e 20})
1,904, 0002 *84%+<86%x (1/30)* (1/7)x 1 =77 Al 2t
505
NEU2RL(AEE (=2 20
9,316 %12 *10A| 2H+ 122 1,118
NEE2(2EY 12 =20f)
3,944,000 3,944
NANSS (LY S =20t
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NIIESEH (ALY (=2 20t
100,0002* 12 * 122 1,200
NEUZAIH|(ZEE 2 20})
140,000+ 12+ 128 1,680
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155,000 *(35A1 2 /40AI 2H) x 1+ 12 1,628
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